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I. The vapour pressure of benzene between 10°C and 30 °C are shown in following table.
Caleculate the enthaphy of vaporization. (15%)

Pressure (torr) | Temperature('C)
4037.24 10
4502.19 15
5005.63 20

‘ 5543.15 25
| 6113.89 30

2. For the decomposition of N;Os
6 (°C) 25 35 45 55 65
10K, (S 1.72 6.65 2495 75 240
Calculate A and E, for the reaction in the following equation
K, =Ae™XT (20%)

3. Calculate AS for the isobaric heating of | mole of N from 300 °K to 1000 °K
Cp=6.4492 + 14125 x 10°T - 0807 x 10712 (15%)

4. One mole of an ideal gas at 300 °K expands isothermally and reversibly from 5 to 20 liters. By
remembering that for an ideal gas, E is constant at constant temperature, calculate the work
done and the heat absorbed by the gas. What is AH fir this process? (25%)

5. The equilibrium vapor pressure of water over BaCl, - H20 is 2.5 mm at 25 °C. What is AG for
the process
BaCl; - HOgy — BaCly; + HyO(,
Where the water vapor is imagined to be a 1-atm pressure? What is AG for the process if water
vapor is produced at 2.5 mm? (25%)




